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A. Complete the following sentences with the given words. (One is extra).
destroyed / hopeful / hunt / injured / instead of
1. Idon'tlike people that ...... wild animals.
2. They took the ...... soldier to the hospital. He didn't feel well.
3. Can you go to the meeting ...... me? I am very busy.
4. She was very unhappy because fire ...... her house.

B. Fill in the blanks with the words given. There is one extra word.
defending / donate / heart / planet / liqguids
5. Everybodyv knows that smoking increases the risk of ...... diseases.
6. When vou have a cold, vou should drink plenty of ...... .
7. Would vou like to ...... vour organs after vou die?
8. Ican'timagine what it's like to live on another ...... .

C. Match the questions with the answers.

A B

9. | Is it an endangered animal? a- Moghan Plain.

10. | Where is their natural home? b- No, they died out 10 years ago.

11. | Are they alive now? c- Next month.

12. | When will they come to see us? d- Yes, we should take care of it.

D. Match the items in A with the items in B. There is one extra item in B.
B A
13. Our brave soldiers ... . ( ) a) uses lenses to make verv small things look larger
14. The Karoonis ... . ( ) b) are ready to defend the country in all wars
15. A microscope ... .( ) c) the longest river in Iran
d) the deepest plain of the country

1/5

E. Match each sentence from column A with an item from column B. (One is extra.)
A B

16. Excuse me, what is it? Is it a leopard? a. Yes, people don't take care of them.

17. Oh, a cheetah? b. Right, but the number will
mcrease.

18. I know. I heard around 70 of them are c. Yeah, an Iraninan cheetah. It is an

alive. Yes? endagered animal

19. Really? How? d. No, it is a cheetah.
e. Well, we have some plans. For
example, we are going to protect
their homes.

F. Put the words in correct order.
20. and / grow / viruses / a living cell / inside / need to / live.

G. Answer the following questions with the words in the brackets
22. What are vou going to do? (buy a dictionarv)

.........................................................................................................

1/5
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8 H. Find the errors and correct them. 1/5
The nile is the river in africa that ends into the mediterranean Sea.
N
26. teiierreiiictrtcccttssestassscones
2
9 I. Read the passage and choose the correct answer. 2

You know that the wooly mammoth is extinct. It ...28... that it has no member of its
kind alive. Its ...29... was much larger than that of a modern-day Asian elephant. It
...30... covered with a warm coat that ...31... it from the cold. Scientists believe that
woolly mammoths died out about eleven thousand years ago, partly because of changes
in the environment.

28. a) saves b) means ¢) searches d) finds
29. a) color b) place c) home d) size
30. a) is b) will be c) was d) be

10 31. a) received b) protected ¢) worried d) reserved

J. Read the passage and answer the questions.
Cheetahs are a part of the big cat family. While they can’t climb trees, they can run
faster than any other land animal. Cheetahs are smaller than other members of the big
cat family, weighing only 45 — 60 kilograms. They have a lifespan of 8 to 10 years in the
wild. While lions and leopards usually do their hunting at night, cheetahs hunt for food
during the day. Cheetahs eat mainly gazelles, and other small animals.

Cheetahs are not usually dangerous to humans: they don’t usually attack people. Some
peoble actually kept them as pets (home animals) in the past.

In 1900. there were over 100,000 cheetahs across the planet. Todayv. there are 9.000 to
12,000 cheetahs in the wild in Africa. In Iran, there are about 100 cheetahs living in small
numbers in the Khorasan province in Iran. They are listed as an endangered species.

Part 1. TRUE OR FALSE 1/5
32. Cheetahs mainly hunt during the night. ( )
33. Cheetahs can run faster than leopards. ( )
34. Cheetahs are at risk of dying out. ( )

Part 2. Answer the following questions.
35. Where do cheetahs in Iran live?

...........................................................................................

...........................................................................................

11 K. Read the passage carefully and answer the questions.

Did vou know that our Sun is just one star among many in the universe? The fact that
the Sun is the closest star to Earth, makes it look much larger and brighter than other
stars.

It is at the center of our solar system. The Sun, all the planets and their moons, and other
bodies that travel around it make up the solar system. The solar system itself is only a
small part of a very big system of stars and other obijects called the Milky Way galaxy. The
solar system orbits the center of the galaxy about once every 225 million vears. The Milky
Way galaxy is just one of billions of galaxies that in turn make up the universe.

I. TRUE OR FALSE

37. The solar system is a part of the Milky Way galaxy. ( )

38. The Sun is closer than other stars to Earth. ( )

I1. Choose the best answer.

39. Our Sun is much larger than ........cccooiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiicieees .

a. the planets that are orbiting it

b. other stars in the Milky Way galaxy 1

c. the galaxies that make up the universe

ITI. Answer the following question.
40. How long does it take the Sun to travel around the Milky Way galaxy? 1
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